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04 QIRHHALE X 13,500 0 13,500
NACHHEAIG X 13,500,000& 13,500
s HZE ALY 7,282 61,000 Ab3,718
101 2124yl 4,982 0 4,982
04 JI2HHZ22NHSES 4,082 0 4,982
NSWEN 22 JAHILS 53,0003 x94H 4,982
206 M Z 8| 2,300 2,300 0
01 =4l 2,300 2,300 0
NsIHSEHOE Jlsns AsNME
23,000& *100 2,300
sIAHLUHAISE 2SS (XHA) 142,063 413,230 AN271,167
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2A: sgI=HH
I‘IiH: ‘g_%-l 7|§E’.S
SRl BB crola

SN CR(EH) - NRAY - BES

22
J2

20
B
2

101 Q1 244] 80,091 46,258 33,833
04 JIZHH22HSES 80,091 46,258 33,833
s HAALY X2 80,091
20123 50,0002 x4 x247L 49,400
2)01gag 12,500,000 x4 x1/3 16,667
2)AI2tl 5 6,560 x4 x10A| 2102 2,624
2)F[38H4Y 50,0002 x4 «457 9,000
plap =R, 50,0002 x4 x 12 2,400
201 L2 A 10,972 10,972 0
01 At 22l 972 972 0
1)Il =4 108,000 x2H 216
negxg 756
2)SIIHYUAY /B 2Y 126,000 «6H 756
02 2329l 10,000 10,000 0
124 520
)SIIHAUAL R HY ASE AR
520,000& 520
N22Q3LAA 530
2)AEBEXNSRA (2.5 21)
30,0002 *1CH 30
QAHSSNSIEE (2,553 9)
500,0002 *1CH 500
1) X2k &t ety 3,550
2)=IIH =32 NBESHE 60,0008 #143] 840
2Q)AEES (2,553 9) 960,00024 *1CH 960
2)SIIHYUAIE X ZEH2 70,0008 %253 1,750
1) A2 ZHI S X 5,400
2)sJIHnEH 5,400
3)EE 218F /6904 5,400,000 5,400
206 M 24l 51,000 6,000 45,000
01 X2 51,000 6,000 45,000
DNSIIHLUAMY sZ)| 25372
6,000,000 6,000
NASL S| LUHAEH sSHYI| 222
45,000,000 14! 45,000
SO HESAANLY 9,000 0 9,000
= 4,500
= 4,500
206 M2l 2,300 0 2,300
= 1,150
z 1,150
01 24l 2,300 0 2,300
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SH: s

Y HH2HAH (sII=HH)
&l QI 2AY| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
01 2= 65,569 60,541 5,028
DAL 2244 65,569
)L 42,235
K PNE, 10,3303 x2F 20 Al 2t 12E 4,959
3)XI = Al 27,191
4)215 3014 8,433 *5Hx20A| 2+« 12 10,120
4)20&5 S0l 7,903 *9H x20A| 2F+ 12 17,071
3) A AL 8,620 «3H «20 Al 2tx 123 6,207
3)Js73 8,078 «2H«20A| 2tx 123 3,878
2)SHAIA 23,334
3)212 3014 8,433& x3H »30Al 2tx 122 9,108
3)21530lot 7,903& *5H x30Al 2tx 122 14,226
Jl2&H| 29,340 34,520 25,180
JI=&Hl 29,340 34,520 A5,180
201 et2Ad| 10,200 15,660 A5,460
01 AR 2t eldl 10,200 15,660 A5,460
et~ 6,000
2)J12MNREZHI 309 200, 000& 6,000
1) S &t 4,200
2)sEXNTAILFX 30 20 «7,000& 4,200
202 (48l 8,400 8,120 280
01 =i bl 8,400 8,120 280
NsEXNT A 2g+™
30 x4 *70,000& 8,400
203 P =&l 10,740 10,740 0
01 JI 22 HRFLAY| 3,300 3,300 0
DES= Pl = s 275,000 «12& 3,300
02 PR F=EH 1,440 1,440 0
DESEPIEA = 40,000& 36 1,440
04 FEN2IHRFLAY| 6,000 6,000 0
NsEX2 250,000& «12& 3,000
Nl=2=0 250,000 «12& 3,000
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